08910101 HANSAMAT - Cover part for shower faucet

EAN: 4057304013737

static.hansa.com/08910101

e Shower solutions
e TrimKit

e (Concealed wall mounting

e Chrome

e Temperature control handle

e Non-return valve(s)

Technical data

Technical properties

Hot water supply max. +80°C

Working pressure 0.5-10 bar

Backflow prevention (EN1717) EB
Spare parts

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

SP08910101

Name
Sealing kit Discontinued

Screw, M5x65

Temperature control handle Discontinued

Screw, M6x9.5

Cover sleeve

Thermostatic cartridge, G1/2
0-ring, d 27x2

0-ring, 35x2.5

Screw, Mé4x4

Sealing kit

Non-return valve

Strainer Discontinued
Shut-off valve

Screw, M6

Plug, G1/2

Raising kit, 35 mm

Fixing bolt Discontinued
Screw, M5x105 Discontinued

Thermostatic cartridge, H/C reversed

Code

59901645
59904847
59906965
59901609
59904915
59901640
59901532
59905020
59901027
59910656
59901610
59901638
59901644
59901641
59905013
59901607
59901647
59901639
59901940


https://static.hansa.com/08910101/en

